SOLVED PAPER

UTTAR PRADESH POLICE CONSTABLE EXAM

Held on : 19.06.2018 (Shift-2)

GENERAL AWARENESS

1. Which of the following rivers
joins the Karnali river at
Brahmaghat in India and form
the Ghaghara river?

(1) Rapti (2) Gandak

(3) Sharda = (4) Sarayu

2. Which of the following miner-

als is also known as “Yellow
Cake”

(1) Plutonium

(2) Uranium

(3) Thorium

(4) Aluminum

3. Which of the following celeb-

rities received India’s second
highest civilian award in
2018?

(1) Ghulam Mustafa Khan
(2) Sharda Sinha

(3) MS Dhoni

(4) Pankaj Advani

4. Who was recently appointed as
the first Director-General of
the National Testing Agency
(NTA)?

(1) Rajesh Kumar Chaturvedi
(2) Joseph Emmanuel

(3) Anita Karwal

(4) Vineet Joshi

5. The G20 Summit will be held

at in 2018.
(1) Rio de Janeiro
(2) Buenos Aires
(3) Mexico City
(4) Istanbul

6.In 1825, who founded the

Vedanta College in which
courses both in Indian leam-
ing and in Western social and
physical sciences were offered?
(1) Aurobindo Ghosh

(2) Ram Mohan Roy

(3) Ishwarchandra Vidyasagar
(4) Swami Vivekananda

7. Which of the following coun-

try is known as Ceylon in Past?

(1) Maldives
(2) Sri Lanka
(3) Mauritius
(4) Suriname

8. India’s distance from Europe

reduced by 7,000 km by the
opening of canal in
1869.

(1) Panama (2) Kiel

(3) Suez {4) Volga-Don

9. Who was one of the chief

guests of the 2018 Republic
Day parade?

(1) Bidhya Devi Bhandari

(2) Maithripala Sirisena

(3) Sheikh Hasina

(4) Aung San Suu Kyi

10. Which of the following e-com-

merce companies has signed a
pact with Government of Ut-
tar Pradesh for the sale of
Khandi Product?

(1) Flipkart

(2} Snapdeal -

(3) Amazon India

(4) Paytm

11. Which of the following was a

scientist as well as a great in-
dustrialist who founded many
industries in India?

{1) C V Raman

(2) J C Bose

(3) Vikaram Sarabhai

(4) Homi Jehangir Bhabha

12. Who is the author of the book

“A Better India : A Better
World"?
(1) Kiran Bedi
(2) NR Narayana Murthy
(3) Sudha Murthy
" (4) Shashi Tharoor

13. Who among the following play-

ers, was NOT involved in the
ball-tampering issue of the re-
cent South Africa-Australia
Test Series in 20187
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(1) David Warner

(2) Steve Smith

(3) Tim Paine

(4) Cameron Bancroft

14. The boiling point of water in

Fahrenheit is L
(1) 100°F (2) 212°F
(3) 150°F (4) 244°F

15. Which of these is NOT a plan-

tation crop?
(1) Coffee (2) Tea
(3) Cashew (4) Millets

16. By which other name is the

pulse ‘tur’ also known as?
(1) Arhar (2) Jowar
(3) Masoor  (4) Ragi

17.A/an is used to measure

the force and velocity of wind.
(1) speedometer

(2) lactometer

(3) thermometer

(4} anemometer

18. When is National Hindi Day

observed in India?
(1) 14th September
(2) 14th November
(3) 14th December
(4) 14th June

19. Article 6 of The Universal Dec-

laration of Human Rights

deals with the "

{1) Right to Recognition as a
Person before the Law

(2) Right to Remedy by Com-
petent Tribunal

(3) Freedom from Arbitrary
Arrest and Exile

{4) Right to Equality before
the Law :

20. Where are the headquarters of

the National Stock Exchange
situated?

(1) Chennai (2) Delhi

(3) Mumbai (4) Bangalore

21. The Union Government of In-

dia has decided to declare 2018
as National Year of ;

(1) Fruits (2) Pulses

(3) Potatoes (4) Millets
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22.

The is a colourful and
mesmeric fair which is held a
few days after Holi, every year

+ . in Meerut in Uttar Pradesh.

23.

24.

25.

26.

27.

28.

29.

30.

{1) Kumbh Mela
(2) Nauchandi Mela
(3) Ganga Mela
(4) Sikri Mela
Who discovered the antibiotic
penicillin?
(1) Archimedes
(2) Alexander Fleming
{3) Alexander Graham Bell
(4) Louis Pasteur

of the Constitution of
India provides a list of official
languages of the Republic of
India.
{1) The Eleventh Schedule
{2) The Fourth Schedule
{3) The Twelth Schedule
{4). The Eighth Schedule
e is NOT appointed by
the President of India?
(1) A Judge of a High Court
(2) The Advocate-General
(3) The Governor
(4) The Attorney-General
Name the first Indian state
where every household has at
least one member having a
bank account.
(1) Maharashtra
{2) Haryana
{3) Himachal Pradesh
(4) Kerala
Select the duct which takes
the urine out from the urinary
bladder to the outside the

body.

(1) Urethra (2) Ureter

(3) Bladder (4) Renal pelvis
National Education Day is cel-

ebrated on

(1) 27th October
(2} 4th March
(3) 17th September

{4) 11th November

The GST Act was enacted by
Parliament vide the ___ Con-
stitutional Amendment Act,
2016 on 8th September Z016.
(1) 97th (2) 84th

(3} 101st (4) 114th
Which of the following dis-
tricts belongs to the Bundelk-
hand region of Uttar Pradesh?

every year.

31.

32.

33.

35.

36.

37.

38.

(1) Fatehpur

(2) Jaunpur

(3} Mahoba

(4) Shravasti

The area of Uttar Pradesh is

approximately of the to-

tal area of the country.

(1) 13.5% (2) 9.4%

(3) 8.4% (4) 7.3%

During the sixth century BC,

the area around Mathura was

known is .

(1) Panchal (2) Ang

(3) Shursenn (4) Matsya

Which romantic-poetry writer

was well known for his work

entitled ‘Madnastak’?

(1) Rahim

(2) Malik Mohmmad Jaisi

(3) Zia-ud-din Bammni

(4) Sultan Firoz Tughlag

Who was the editor of Uttar

Pradesh’s first daily newspaper

“Hindustan” Published in

18877

(1) Mahabir Prasad Dwivedi

{2) Padumlal Punnalal Bakshi

{3) Madan Mohan Malviya

(4) Bhartendu Harish Chan-
dra

In which year was it made le-

gally binding to use Hindi in

all official works in Uttar

Pradesh?

(1) 1947 {2) 1957

(3) 1968 (4) 1977

Which of the following was a

major painter at Akbar’s court?

(1) Mir Musavvir

(2) Dost Muhammad

(3) Daswanth

{4) Mir Syyad Ali

was a prominent musi-

cians of Faizabad who devel-

oped the Tappa style in classi-

cal music.

(1) Mustaribai

(2) Khushi Maharaj

(3) Mehndi khan

(4) Thakur Prasad

Which of the following is a

popular folk song of Bundelk-

hand?

(1) Birha (2) Alha

(3) Rasia (4) Languria

e f&=<t

39.

40.

41.
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45.

46.

47.
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59.
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72. “FEEE % Wi wh €2
(1) SE9iHT TEE St
(2) HeTREt =i
(3) e Tt
(4) g Ha _
73. HF-H A qerER S e 22
(1) SreTeredt
(2) et
(3) T 7"
(4) Tm
74. tetafea =il § @ sk 3
e =g =t Teswa o g fanr
(1) werRst =t
(2) TETiH TR
(3) Aferettoror T
(4) i dd
75. ‘Cagw’ sE W 9 9 frew
T TR I STAHE H T A
22
(1) Joeig it
(2) TRGTR  FEAE
(3) wefefly et
(4) TE= YRl S

NUMERICAL AND
MENTAL ABILITY

76. What will come next (in place
of '?’) in the given series ?
D4X24EBHS8T20L?

(1) 18 (2) 26
(8) 12 47

77. How many ‘M’s are immediately
preceded and followed by ‘N’ in
the following series ?
MNNMNNMMMNNNO
OMMMMNNMMMTTM
NMNMNMN
(1) 3 (2) 5
37 (4) 4

78. What will come in place of the
question mark (") in the giv-

en series ?
21U13M22V18R?S
(1) 22 (2) 25
(3) 19 (4) 18
79. If GOOD = 41, then BAD = ?
(1) 6 (2 12
" ((3) 7 (4) 10
80. If ACTIVE = 60, then PASSIVE
=7

81.

82.

84.

1L

85.

(1) 100 (2) 80

(3) 91 (4) 55

If in a certain code, SILK is
written as 1991211, then what
will COTTON be written as in
the same code ?

(1) 31514152020

(2) 35201201514
(3132015152014

(4) 31520201514

A clock is showing the time
1 : 40. If the minute hand
points to South-West, in
which direction does the hour
hand point ?

(1) North-East

(2) South

(3) North

(4) South-East

. Amal and Subir were standing

face to face in the evening and
chatting. Their shadows were
in front of Subir. Which direc-
tion was Amal facing ?

(1) East (2) West

(3) North (4) South
Consider the given statements
to be true and decide which of
the following Conclusions log-
ically follow(s) from the two
given statements, disregarding
commonly known facts.
Statements :

Some crows are pigeons.

All pigeons are peacocks.
Conclusions :

. Some crows are peacocks.

No peacock is pigeon.

(1) Only Conclusion I follows

(2) Only Conclusion II follows

(3) Neither Conclusion I nor II
follows

(4) Both Conclusions I and II
follow

Consider the given statement

and the following assumptions

to be true and decide which of

the assumptions is/are implic-

it in the statement.

Statement :

Save non-renewable sources of

energy for the ne}ft generation.

Assumptions :

I. The next generation will have
no renewable sources of ener-
gy.

II. If non-renewable sources of
energy get exhausted, the next
generation will not be able to
use them and will have to
think of alternatives.

(1) Only assumption I is im-
plicit.

(2) Only assumption II is im-
plicit.

(3) Neither assumption I nor
II is implicit. {

(4) Both assumptions I and I
are implicit.

86. Consider the given statement
and the following assumptions
to be true and decide which of
the assumptions is/are implic-
it in the statement.
Statement :

Like poles repel each other;
unlike poles attract each oth-
er.

Assumptions :

I. Magnetic objects of similar
pole repel each other.

II. People of opposite nature re-
main more intact.

(1) Only assumption I is im-
plicit.

(2) Only assumption II is im-
plicit.

(3) Neither assumption I nor Il
is implicit.

(4) Both assumptions I and II
-are implicit.

87. Which of the following is NOT
a composite number ?

{1) 133 (2) 433
(3) 533 (4) 833

88. Select the most appropriate
option to solve the equation.
105+ 15%(38-8+5)+3="7

1
(1) 7 (2) 35

1
(3) 14 4 105

89. Select the most appropriate
option to solve the equation.
1.8+1200="7
(1) 0.15 (2) 0.015
(3) 0.00015 (4) 0.0015

(UCcSE_57 |
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'90. Select the most appropriate
option to solve the equation.

11 33
L. — =9
& fEabelk v
1 1 1
3= 7
(R g )
1 1
3— 2—
o) S U2
91, What is the HCF of 54, 162
and 189 ?
(1) 27 (2)9
(3) 3 (4)1
92, What is the LCM of 64, 128
and 1607
(1) 320 (2) 384
(3) 12 (4) 640

'93. If 84 is divided in the ratio 5 :
9, what is the greater of the

two parts ?

(1) 54 (2) 63

(3) 57 (4) 48
94.Ifx:16::63: 36, then x=?

(1) 20 (2)24

(3) 28 (4) 30

95. Rishi secured 66 marks in a
test out of 75. What was the
percentage of marks obtained

by Rishi ? *
(1) 84 (2) 88
(3) 87.5 (4) 90

96. Irene suffered a loss of 12% by
selling a mask for Rs. 308. At
what selling price would she
have made a profit of 10% 2
(1) Rs.396 (2 Rs. 363
(3) Rs. 374 (4) Rs. 385

97. After a discount of 15% on the
marked price of a set of pens.
it still cost the buyer Rs. 1 ,751.
What was the marked price of
the set of pens ?

(1) Rs. 2,025 (2) Rs. 2,000
(3) Rs. 2,060 (4) Rs. 1,989

98. Rs. 1,800, invested for 5 years
at 8% simple interest per an-
num, will earn an interest of

" Rs. ;
(1) 720 (2) 750
(3) 630 (4) 675

.99. What would be the interest
accrued in two years on Rs.
300 if the sum is invested at
10% interest compounded an-
nually ?

100.

-his money after a few months.

101.

102.

103. A ship developed 2 leak 15 km

"speed of 10 km /hr for a maxi-

(1) Rs. 60.50 (2) Rs. 60
(3) Rs.61.50 (4) Rs. 63
Suhas and Nitin invested some
money in a business in the
ratio 8: 3, but Suhas withdrew

104. The length of a side of an equi-

lateral triangle is 21 cm. What

. would be the approximate area

of the circumcircle of the
above triangle ?

[Use = ?3]
: g

(1) 15443 cm?

2) 46243 cm’

If the end—of—tWelve-months’
profit was shared between Su-
has and Nitin in the ratio 5 :
4, for how many months did
Nitin alone invest ?

5 3 (2) 2
) B ) 62 (3) 462 cm
8 8 (4) 484 cm?®

3 5 105. Zubin and Pravin can individ-
3) 5% (4) = ually complete a job in 36 min-

8 8 .

X utes and 60 minutes respec-

The average marks obtained by tively. Starting with Zubin,

5 students is 55. The average
score of the top three perform-
ers out of these five is 65. What
is the average score of the oth-
er two ?

they work alternately: for a
minute each till the work is
completed, only the one work-
ing at the end allowed to work
for less than a minute ‘in his

(1) 50 (2)45 final turn. How long will it take
(3) 40 (4) 35 the duo to complete the job ?
Rashid can complete a job by (1) 45 minutes

himself in 15 days while
Kausik can do the same work
alone in 21 days. If they work
together how many days will
it take them to complete the
work ?

(2) 44 minutes 48 seconds

(3) 44 minutes 45 seconds

(4) 45 minutes 12 seconds
106. Govinda usually leaves his

home every day at g am and

travels at a certain gpeed to

3 1 reach office on time. One da
= 9= . Y.
(8 a (2 i % :

1 3 he travelled at 5 of the usual
(3 84 (4 9 : .

4 4 speed and hence arrived 22.5

minutes late. How much time
does Govinda usually take to
reach his office ?

(1) 1 hour 15 minutes

(2) 1 hour 20 minutes.

(3) 1 hour 25 minutes

(4) 1 hour 30 minutes

107. Select the option that is relat-
ed to the third term in the
same way as the second term
is related to the first term.
Saffron : Spice :: Apple::
(1) Vegetable (2) Fruit
(3) Stem (4) Root

from the shore and yet could
travel towards the shore at a

mum time of 18 minutes. A
rescue vessel that was imme-
diately sent from the shore to
rescue the passengers would
take 6 minutes to complete the
rescue once it reaches the
ship. What should be the min-
jmum speed of the rescuc ves-
sel in order to be able to suc-
cessfully evacuate everyone

onboard the ship ? e Wan s .
(1) 72 km/hr 108. ‘Sa%w.a is to ‘Salivary Glands
(2) 70 km/hr as ‘Bile’ is to °_ i

(3) 68km /hr {1) Stomach (2) Liver

(4) 65km /hr (3) Pancreas (4) Lungs

—| UCSE-58 =
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109.°__ ' is to ‘Celsius’ as
‘Mass’ is to ‘Grams’.
(1} Heat
(2) Humidity
(3) Energy
(4) Temperature
110.In a certain code language,
MUMBAI is written as NT-
NABH. How will KANPUR be
written as 'in the same lan-
guage ?
(1) JBMQTS (2) NAKRUP
(3) LZOOVQ (4) LBOQVS
111.‘Cake’ is related to ‘Oven’ in
the same way as ‘Ice-Cream’ is
related to * %
(1) Filter
(2) Non-stick Cookware
(3) Refrigerator
(4) Cooker
112.‘Meghalaya’ is related to
‘Shillong’ in the same way as
‘Nagaland' is related to s
(1) Daman  (2) Itanagar
(3) Kohima (4) Dispur
113.°100 is to ‘Century’ as ‘10" is
to * G
(1) Ten (2) Fortnight
(3) Week (4) Decade

MENTAL APTITUDE, IQ &
REASONING ABILITY

114. Insert the correct option in the |

blank below :
Al, E5, K11, , C29
(1) 817 (2) 519
(3} M13 (4) M17

115. Select the option that is relat-
ed to the third term in the
same way as the second term

is related to the first term.
82:64::92:°7

(1) 81 (2) 90

(3) 49 (4) 100

116.If ‘MATTER’ can be coded as
‘AMTTRE’, then how would you
code ‘LENGTH’ ?
(1) HTGNEL (2) ELGNHT
(3) ELNGHT (4) ENLGHT
117.1f ‘METHOD' can be coded as
‘EMHTDO’, then how would
you code ‘PRACTICE’ ?
(1) RPACITCE
(2) RPCAITEC
(3) RPCATIEC
(4) RPCATICE

118.In a code language if MANGO
is written as OGNAM, then
what will be the code for AP-

PLE?
(1) APLPE (2) APPEL
(3) ELPAP (4) ELPPA

119. If CHANTING' can be coded as
*HCNAITGN’, then how would
you code ‘PINCHING’ ?

(1) IPNCHIGN
(2) IPCNIHGN
(3) IPCNHIGN
(4) GNIHCNIP

120. Speaking to Kamala, Rajesh
said “My mother is the only
daughter of your father”. How
is Kamala related to Rajesh ?
(1) Mother  (2) Aunt
(3) Wife (4) Daughter

121.M is the sister of N, R is the
niece of M and T is the mother
of R. How is N related to T ?
(1) Brother (2) Daughter
(3) Husband (4) Nephew

122. Maya is Gopal’s wife. Preethi’s
husband, Naresh has a sister,
Jaya and a brother, Gopal.
How is Naresh related to
Maya ?

(1) Father-in-law
(2) Son

(3) Son-in-law

(4) Brother-in-law

123. Which of the following num-
bers in the Venn diagram
shows the soft cotton shirt ?

ZhN

[ soft
/\ Lucknow

[ Cotton
O Shirt
(1) 6 (2)5
(39 47
124. Find the suitable option for the
given Venn diagram.

1
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(1) Family, husband, wife
(2) Peacocks, crow, cocks
(3) Cows, figures, lions
(4) Cats, dogs, frogs
125. What does the number 3 in the
Venn diagram below describe ?

1 / 5

3 O Cake
/\ Soft

[ Chocolate

(1) A cake which is not soft

(2) A soft cake which is made
of chocolate

(3) A soft cake which is not
made of chocolate

(4) A soft chocolate

126. Which of the following num-
bers in the Venn diagram rep-
resents a warm and rainy day?

! 2>
(5

k65!7|

[l Chill
() Fogay
(O Rainy Day
[ Warm
(1} 6 2)7
(3) 5 - (4)4
127. Which of the following options
best suit the Venn diagram giv-

en in the figure ?

WS
O

(1) English, Tamil, Hindi
(2) Women, mothers, doctors
(3) Passenger, bus, train
(4) Pollution, air, water
128. Select the odd one out among

the following : :
(1) 9876 (2) 8765
(3) 5432 (4) 7653

129. Which word does NOT belong
with the others ?
(1) Square (2) Pentagon
(3) Hexagon (4) Angle

Mhaic= o5



SOLVED PAPER-04

“SOLVED PAPER-04

130. Which word does NOT belong

with the others ?

T (1) sitting  (2) Crying
(3) Standing (4) Sleeping

. 131.Which alphabet is NOT simi-

: lar to the others ?
(1) A @20

: 3) D @ o

; '132. Which word does NOT belong
with the others ?
(1) Earrings  (2) Bracelet

) (3) Bangles (4) Spectacles

* 133. Which word does NOT belong
with the others ?

: (1) Edges (2) Sides

i (3) Faces (4) Vertices

i
i 134. Choose the correct mirror im-

; age of the object given from the
choices, when the mirror is
i heldat AB:

Question Figure :

A
B
Answer Figures :

]

- DAL

t

! (1) 2) (3)

' 135. Identify the odd pair :
(1) Husband-Wife

; (2) Father-Daughter
{3) Uncle-Niece

_ (4) Mother-Son

! 136. Consider the four members of

! this set : Coconut, Groundnut,
Mustard, Corn

: Which of the choices below can

; be a part of the above set ?
(1) Cashew nut

_ (2) Cocoa

' (3) Olive

: (4) Almond

: 137. Which of the following options

- has the correct water image of
the picture given below ?

; Question Figure :

S

4)

Answer Figures :

138. Select a suitable figure from
the answer figures that would
replace the question mark.

Qustion Figures :
ON | TH | F1 | 9
E RE | VE '
E
Answer Figures :
(1) (2)
X
: N
(3 4
FO TE
UR N

139. Select a suitable figure from
the Answer Figures that would
replace the question mark.
Question Figure :

-
I A
@E]

Answer Figures :

0

(1)

c

ol
(3 0

140.

141.

142.

The first two figures in the given
Problem Set bear a relation-
ship. Select that figure from
the Answer Set which bears the
same relationship to the third
figure in the Problem Set as the
second one bears to the first
in the Problem Set.

Problem Set :
Q ?

N©

Tt 2 2N,

Answer Set :

O

(1) @ B @
na 2B
3 C (4) D
Select a suitable figure from

the Answer Figures that would
replace the question mark.

Question Figure :

The first two figures in the
Problem Figures bear a rela-
tionship. Select the figure from
the Answer Figures which bears
the same relationship to the
third Problem Figure as the
second bears to the first Prob-
lem Figure.

Problem Figure :
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143. Read the statements and iden- (1) Only Conclusion I follows :
tify the logically correct con- (2) Only Conclusion 1I follows =] ANSWERS ==
clusion from the given infor- (3) Both, Conclusions I and II L@l 2@ 3 4 @
mation. follow ;
Statement : (4) Neither Conclusion I norII 52| 6@| 7. 8. 3)
“The beginning of health is follows 9.4 10.3) | 11.(3) | 12.(2
sleep” — written on a hospital | 146, Select the option that is relat- | | 13, (3)| 14.@ | 15. @ | 16.()
wall ed to the fourth term in the i 3 2.0
Conclusions : same way as the first term is 17.14)| 18.(1) - () -

I. If one sleeps, all his diseases related to the second term. 21. (4)] 22.2)] 23.(2) | 24. @)
get cured. ¥ - 74150524 204 25.2)| 26.@| 27.0 | 28.@

1. Sleep is the medicine for 1) 5 (2) 10 29.@3)| 30. @) 3'1 @ | 32.9
the diseases. @3) 11 (4) 38 i 3 ;. :
(1) Only Conclusion I follows | 147. Select the option that is relat- 33. (1| 24.(3 | 35.3) | 36.(
(2) Only Conclusion II follows ed to the third term in the 37.(1)] 38.(2)| 39.(1) | 40.(2)
(3) Either Conclusion I or II same way as the second term a1. ()| a2. [1) 43.(2) | 44.0)

follows is related to the first term. EoleE A m | ee

(4) Neither Conclusion I nor II 258:80::369:°7 - 4 i :
follows (1) 162 (2) 18 49, (2)| 50.(@) | BL. (1) | 52.(1)
144, Consider the satements to be (3) 90 (4) b4 53.(1)| 54.(1) | 58. (1) | 56.(1)
true even if they seem to be at | 148, What will come in place of the 57. @] 58.(1) |59. 1. 3| 60. 2

variance from commonly blank in the series ?
known facts. Decide which of 3. 15, 35, 63, 143, 61.(2)| 62.(1)| 63.(1) | 64.(3)
the given Conclusions logical- (1) 89 @) 78 65.(1)| 66.4) | 67.(1) | 68.(1)
ly follows from the two given

statements, disregarding com- (?f} %9 (4) 121_ 69.(2)| 70.(4) | 71.(1) | 72. (1
monly known facts. 149. Find the next letter in the se- | | 73, (9| 74.(3) | 75. @ | 76.(3)
Statements : ge; v 77.0)| 78.3 | 79.@® | 80.©
Some crows are lions. [1’] Q 2 d[zf};- 81| s2.()| 83.@ | 8. (D
All lions are panthers. ik AT [ i B e

Conclusions : ) S_ @ il W9 A L
1. Some crows are panthers. An0: identlt?lr t:e;?;mber that fol- | | 89.(4)| 90.(4) | 91. (1) | 92.(8)

i o .

IL. No lion is a crow. 20“;8 i 93.)| 92.3 | e5. @ | 96. @
[1} OI]ly Conclusion .I follows {i) i8 ! ’ {2] 28 97. (3)| 98. (1} go, [4) 100. (1)
) WghrCentinsioR iollons (3) 26 (4) 29 101. 3 | 102. (1) [108. @ [104. (3)
(3) Neither Conclusion I nor II

tlows 105. (2) | 106. (4 |107. (2) |108. (2)
(4) Both, Conclusions 1and 11 | | For Latest books of 100, @ |110. @ 111. ® [112. )
follow 3 113. (4) |114. 2) [115. () [116.(2)
145. i
5 tCr(:lnSIder t.he statements to be KiRAN INSTITUTE OF 1172|118 @ 9. @ |120.
e even if they seem to be at CAREER EXCELLENCE |
variance from commonly : 121. (1) |122. (4) {123.(2) [124. (1)
known facts. Decide which of Visit : 125. @) |126. 3 [127. (1) |128. @
. . ; ISIC &
the given Conclusions logical- -
ly follows from the statements. v i 129. (4) [180. (2) |131. (3) |132. [,4]
Statements : bookstree.ln 133. (3)|134. (9) [135. (3) |136. (&)
1. All teachers are boys. 137. (2) [138. (2) |139. (4) [140.(3)
2. Some boys are students.
5 141. (1) | 142. (4) |143. (4) |144. (1)
Conclusions : For Online Test R Py Py Fp
I. Some students are boys. i " v 5 phehitd
II. Some teachers are students. 149. (2) [150. (3)
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=] EXPLANATIONS E=

1.

(3) The Karnali river, that ris-
es near Manasarovar, cuts
through the Himalayas on its

.way to convergence with the

Sarda River at Brahmaghat in
India where it foris the Gh-
aghara River. The Ghaghara is
a major left bank tributary of
the Ganges. It is the longest
and largest river in Nepal.

. (2) Yellowcake (also called ura-

nia} is a type of uranium con-
centrate powder obtained from
leach solutions, in an inter-
mediate step in the processing
of uranium ores. Itis a step in
the processing of uranium af-
ter it has been mined but be-
fore fuel fabrication or urani-
um enrichment. It contains
about 80% uranium oxide,
which melts at approximately
2880°C.

. (1) The Padma Vibhushan is

the second highest civilian
award of the Republic of India.
The 2018 Padma Vibhushan as
conferred on Illaiyaraja (music
director), Ghulam Mustafa
Khan (musician in the Hin-
dustani classical music tradi-
tion) and P. Parameswaran (a
Rashtriya Swayamsevak
Sangh ideologue from Kerala).

. (4) The Government, in March

2018, appointed former chair-
man of Central Board of Sec-
ondary Education (CBSE])
Vineet Joshi, as the first Di-
rector-General (DG) of the
National Testing Agency (NTA).
He will have tenure of five
years.He is 1992-batch IAS of-
ficer of the Manipur cadre.

(2) The 2018 G20 Summit will
be held in Buenos Aires, Ar-
gentina, in November-Decem-
ber 2018. It will be the 13th
meeting of Group of Twenty
(G20). It will be: the first-ever
G20 summit to be hosted in
South America.

. (2) Ram Mohun1 Roy founded

‘Vedanta College in 1825 A.D.
to propagate Hindu monothe-
ism. He also founded ‘British

10.

11.

Indian Unitarian Association’
in 1827 A.D. and ‘Brahmo Sa-
maj’ in 1828 A.D. Earlier, he
had founded the short-lived
Atmiya-Sabha (Friendly Soci-
ety) to propagate his doctrines
of monotheistic Hinduism.

. (2) Sri Lanka was known as

Ceylon during the British co-
lonial rulebetween 1815 and
1948. A nationalist political
movement arose in the coun-
try in the early 20th century
to cbtain political indepen-
dence, which was granted in
1948; the country became a
republic and adopted its cur-
rent name in 1972.

. (3) Since the opening of the

Suez Canal in 1869, India's
distance from Europe has been
reduced by 7,000 kms. Suez
Canal connects the Red Sea
and the Mediterranean Sea.
Now, the ships do not have to
go around the tip of Africa.

. (4) Leaders from the 10 ASEAN

nations — Thailand, Vietnam,
Indonesia, Malaysia, the Phil-
ippines, Singapore, Myanmar,
Cambeodia, Laos and Brunei —
were the chief guests at Repub-
lic Day 2018. Aung San Suu
Kyi, State Councillor of Myan-
mar who is serving as the
country's de facto leader and
has been in office since 2016,
was one of the guests.

(3) The Khadi and Village In-
dustries Board of Uttar
Pradesh has signed a pact with
Amazon India to facilitate on-
line selling of Khadi products.
As part of an MoU, Amazon
India will educate, train and
enable rural khadi artisans to
directly sell their products to
Amazon.in customers across
the country under the brand
of UP Khadi.

(8) Vikram Sarabhaiwas an In-
dian scientist and innovator
widely regarded as the father
of India’s space programme.
Apart from being a creative sci-
entist, he was a successful and
forward-looking industrialist
who led the Sarabhai family's

12

13

14.

15

diverse business conglomerate.
He set up Operations Research
Group, the first market re-
search organization in the
country. He also set up Nehru
Foundation for Development
in Ahmedabad, the Indian In-
stitute of Management
Ahmedabad, the Ahmedabad
Textile Industry's Research

-Association, etc.

(2) A Better India a Better
World is a book by N.R. Naray-
ana Murthy, the co-founder of
Infosys,a multinational corpo-
ration providing business con-
sulting, technology, engineer-
ing, and outsourcing services.
Published by Penguin Books in
2009, the book Murthy brinds
forth the stark realities that
almost 300 million Indians
still face : hunger, illiteracy
and disease.

(8) In March 2018, the men's
Australian cricket team was
involved in a ball-tampering
scandal during and after the
third Test match against
South Africa in Cape Town
when Cameron Bancroft was
caught by television cameras
trying to rough up one side of
the ball to make it swing in
flight.Captain Steve Smith and
vice-captain David Warner
were found to be involved and
all three received unprecedent-
ed sanctions from Cricket Aus-
tralia.

(2) On the Fahrenheit scale,
the freezing point of water is
32 degrees Fahrenheit (°F) and
the boiling point is 212 °F (at
standard atmospheric pres-
sure}. This puts the boiling and
freezing points of water exact-
ly 180 degrees apart. The boil-
ing point of water decreases
with altitude.

(4) Plantation crop refers to
monoculture crops which are
cultivated on an extensive
scale over a large. The major
plantation crops include coco-
nut, arecanut, oil palm, cash-
ew, tea, coffee and rubber; the

—( UCSE_g2 |
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16.

17.

18.

minor plantation crops in-
clude cocoa. Millets come un-
der food crops.

(1) Tur is pigeon pea that is
also known as Arhar Daal
(pulses) in Hindi. The original
word in Hindi and other north-
ern / eastern languages is ar-
har, but the southern Tur has
been widely accepted over the
past century or so. It is con-
sumed on a large scale mainly
in south Asia and is a major
source of protein for the pop-
ulation of the Indian subcon-
tinent.

(4) An anemometer is a device
used for measuring the speed
of wind. An anemometer looks

‘like a weather vane, but in-

stead of measuring which di-

‘rection the wind is blowing

with pointers, it has four cups
so that it can more accurately
measure wind speed. The fast-
er the wind, the faster the cups
spin the axis.

(1) National Hindi Divas (Hin-
di Day) is observed across In-
dia on 14.September every year.

* It was on this day in 1949, the

19.

20.

Constituent Assembly of India
had adopted Hindi written in
Devanagari script as the offi-
cial language of the Republic
of India.

(1) Article 6 of the Declaration
says that “evervone has the
right to recognition every-
whereas a person before the
law."Every individual has the
right to the respect of the dig-
nity inherent in a human be-
ing and to the recognition of
his legal status. It means that
a person should be legally pro-
tected in the same way every-
where like anyone else.

(3) The National Stock Ex-
change of India (NSE), the
leading stock exchange of In-
dia, is headquartered at Mum-
bai, Maharashtra. It was es-
tablished in 1992 as the first
demutualized electronic ex-
change in the country. NSE
has a total market capitaliza-
tion of more than US$2.27

21.

22.

23.

24.

25,

trillion, making it the world's
11th-largest stock exchange as
of April 2018.

(4) The Union government has
decided to declare 2018 as ‘Na-
tional Year of Millets’ to boost
the cultivation of millets to
achieve nutritional security.
Millet is a common term to
categorize small-seeded grass-
es that are often termed nu-
tri-cereals or dryland-cereals.
It includes sorghum, pearl mil-
let, ragi, small millet, foxtail

millet, proso millet, barnyard |

millet, kodo millet, etc.

{2) Nauchandi Mela is a co-
lourful and mesmeric fair
which is held a few days after
Holi, every year in Meerut in
Uttar Pradesh. It is a rare sym-
bol of communal harmony with
Hindu and Muslimn shrines —
Nauchandi temple and the dar-
gah of Muslim saint, Bala Mian
~ lying close by. Visitors pay
obeisance at both the shrines
irrespective of the religion they
belong to.

(2) Sir Alexander Fleming dis-
covered the world’s first anti-
biotic— benzylpenicillin (Pen-
icillin G) —from the mould
Penicillium notatum in 1928.
For this discovery, he shared
the Nobel Prize in Physiology
or Medicine in 1945 with
Howard Florey and Emst Boris
Chain.

(4) The Eighth Schedule con-
tains the list of recognized lan-
guages in the Indian constitu-
tion, it contains a list of
scheduled languages, original-
ly 14, but since expanded to
22. Even though English lan-
guage is not included in Eighth

_Schedule, it is one of the offi-

cial languages of Union of In-
dia.

{2) The Governor of each State
appoints a person who is qual-
ified to be appeinted as a Judge
of a High Court to be the Ad-
vocate General of the State.
The Advocate General of State
holds office during the pleasure
of the Governor. The office of

26.

27.

28.

29.

the Advocate General in state
corresponds to the office of
Attorney General of India.

(4) As per government data of
December 2017, at least one
member of every household in
Kerala now has a bank
account.Kerala attained this
status through 4,879 branch-
es of commercial banks, in-
cluding co-operative banks
and regional rural banks
spread across the state. At
least one member of its
11,82,000 households, spread
over 1,624 villages and 14 dis-
tricts, now has a bank ac-
count. The total number of
bank accounts in Kerala is
63,26,000.

(1) In anatomy, the urethra is
a tube that connects the uri-
nary bladder to the urinary
meatus for the removal of
urine from the body. It allows
urine to pass outside the body.
The brain signals the bladder
muscles to tighten, which
squeezes urine out of the blad-
der. At the same time, the
brain signals the sphincter
muscles to relax to let urine
exit the bladder through the
urethra.

{4) National Education Day of
India is celebrated on 11 No-
vember every year. It commem-
orates the birth anniversary of

-Maulana Abul Kalam Azad,the

first education minister of in-
dependent India, who served
from 15 August 1947 until 2
February 1958.

(3) The 101st Amendment Act,
2016, introduced the Goods
and Services Tax (GST) in In-
dia from 1 July 2017. It was
passed. by the Rajya Sabha on
3 Auguist 2016 and Lok Sabha
on 8 Sizptember 2016. The bill,
after ratification by the States,
receivizd assent from President
Prana b Mukherjee on 8 Sep-
tember 2016.

. (3) Buindelkhand is spread over

about 69,000 sq. km. of land
in seven districts of Uttar
Prades;h (Chitrakut, Banda,

( UCSE_63
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31.

32.

33.

34.

35.

Jhansi, Jalaun, Hamirpur,
Mahoba and Lalitpur) and six
districts of Madhya Pradesh
(Chhatarpur, Tikamgarh,
Damoh, Sagar, Datia and Pan-
na).

(4) Uttar Pradesh covers
243,290 square kilometres
(93,933 sq mi), equal to 7.33%
of the total area of India. It is
the fourth-largest Indian state

by area. Besides, it is the most |

populous state in the Repub-
lic of India as well as the most
populous country subdivision
in the world. ‘

(3) Shurasenawas an ancient
Indian region corresponding to
the present-day Braj region in
Uttar Pradesh, with Mathura
as its capital city. According to
the Buddhist text Anguttara
Nikaya, Surasena was one of
the sixteenMahajanapadas
(powerful realms) in the 6th~
7th century BC.

(1) Madnaashtak is a collec-

tion of poems of Rahim. It is
centred around the Raas Lee-
1a of Krishna. It is a composi-
tion of eight verses in which
Rahim has presented examples
of poetry-composition in
mixed language using languag-
es like Sanskrit, Persian, Kha-
di Bid, Awadhi and Braj.

(3) Pandit Madan Mohan Ma-
laviya started his journalistic
career as the editor of Hin-
dustan in 1887. He also found-
ed in 1909 a highly influential
English newspaper -The Lead-
er-published from Allahabad.
He was also the chairman of
Hindustan Times from 1924 to
1946.

(3)Hindi is the official lan-
guage of Uttar Praidesh. It was
made the official llanguage of
the state by the Utitar Pradesh
Official Language Aict in 1951.
It was enacted by- the State
Legislature to provicie for adop-
tion of Hindi as the language
to be used for the official pur-
poses and other m:atters of the
State of Uttar Pra desh. How-
ever, it was made 1 egally bind-

36.

37.

38.

39.

40.

41.

ing in all official works under
the Official Language Resolu-
tion 1968.

(3) Daswanth was a Mughal
dynasty painter in the service
of Akbar. He played the lead-
ing part in the illustration of
the Jaipur originating family
of folk tales called Razm-
Namah, which is the Persian
name for the Indian epic
known as the Mahabharata.
(1) Akhtari Bai Faizabadi, also
known as Begum Akhtar (Mus-
tri Bai), was a well-known In-
dian singer of Ghazal, Dadra,
and Thumri genres of Hin-
dustani classical music who
developed Tappa style in clas-
sical music. Tappa was intro-
duced to the imperial court of
the Mughal Emperor Muham-
mad Shah,and later by Mian
Ghulam Nabi Shori a court
singer of Asaf-Ud-Daulah,
Nawab of Awadh.

(2) Alha is a popular folk song
in Bundelkhand region of
Madhya Pradesh. The folk song
narrates the heroic deeds of
Alha and Udal, the two war-
rior brothers who served Raja
Parmal of Mahoba. It high-
lights the high principles of
morality, chivalry and nobili-

(1) ar=a TF & SH €T B Hed
# ford ge wal 9o ¢ 5 o §
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T & sE = B fama H weE
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e .

(i} g area (i) FH 9= (i) 9
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[2)@%(0,@1‘:&@@&&
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B
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(1) ‘wel U= Wi, w8 W et
A 1 o ¢ fafe o R wme
Afd T gE Sdi A STEEA
el &1 qEl

(2) S SIEHR, IO w g
F SWE SR FwEd o1 gha
% g ¢ et a0l =1 T ®
srfir GRS :
3 : gfea W TR ST S
wfed goa 9ol T W & TR
W H ‘9 Tl # e T T R
F m ool = et g ¥ T TN
I HIIE FABN

(1) S i w91 €1 S o
IR W B § Al Y W H
16 T g g Wk % ofw |
& () ® 9% T () a0
T o &1 e % A R wwm
2 21 WY : (fawE Se uE e
g Wie 99 wfe sl

. (1) sfron foare = ‘ensiEm’ o |

FH F U0 e o 39 9 |
AR W el W wHE R
S 9E TAE -

e seE: sl fom
GO F TEEl WS WO e € 59

SrEEiE W Fed 1 99 T

FT TRl TE eI T €1 98 WA
e AqEE fon § @ )

Y aehen - famE - WeR R,
FuRTaR - fore - i & ST
(4) FT0 T F Wl 9 W R
wov W - fRdt i eaflm @
fae @1wal W01 § SOd B A
T of 99 % URAE B HE
™ HEd ¢ HE W H R A4
vk &1 % ™ w1 wrh 9 s
21 ™ Fa dem |

(1) 3% & TUE™ i FUiEen FEd
F| fo=<t qotaren © 52 =0 €1 SR
wd v & R R e avimen
B9 9r ¥ - @ auEen @R SHeH
FuiTTET

TR Ui &1 We 11 81 =R
FUHET § - o, 9N, 8, %,3, %, W,
w, 1w, af, e

T UceE-ea |
UCSE-64 —



SOLVED PAPER-04

SOLVED PAPER-04

e o e

49.

50.

51.

52.

o O w1 TEm 33 #1
?ﬁqwﬁﬁﬁmﬁmmw%:
(1) ot (i) Sfaxr (i) I
Tl - e, geRt, T, e
A - 9,7, 9, T

IH - 7, 9, 9, 7l

. (4) v wifen o= ¥ stfverdt

w1 o ¥ - TRy A B ot
Tee e, e enfyl e g
o g 21 WER g owes @
forrent a1 3w, A enfy e 2
R gfer v € T aref @,
W e afy @ 2

(2) feformn-fefed wet s =& 21
TOHT GE e fesa-fefaat gm
fean wF w99 & s fefeal
FgAIR &1 T YR, S H wgeT
afedl, diar F 9gaE A TS
T H FgIT ayu 2

(2)'TH T P GEA A qsr &

W 9 Y Y HRE § gay
HF : G U gaAm W N
®Y W IHH W IR F WY Gy
e B €, 59 HaY FEF FEd
gl "oy wrw fad e ® Ty
¥ & 999 vHT N B W RS
w1 faufem fog ‘=1, =1, %, 0 4, 3,
T, M, A w1 W o W
FRF ‘w1 T ey s B
TE M AR FE B A" way
Erici e

(1) Uferfas fomtwor w2 21 =
TS WAl YA WEAH w1 fawea
I T/ Toeiow wed 21 T8 gmed
A e e fasieer semEn s
B @ - tfefes (R -
e (W) + 3% (ve), @ifds
(fagiwor) - wdf (5@ + ==
(v), s (fagmon) - =g
(EF) + @ (wd)|

(1) ‘s, SR g %9 fear @

wem demefE w9 21 gvomefw |

T framed 9 35 @ =1 9y
B % wd wd = 7 = et
TR & FE T B fow iRa s
2 3 Tondw frad FEem &)

T WgH

AT S
et =l 0
53.

54.

55.

56.

57.

58.

o el $ 2 w9 e € -
T ‘gE’ fEE g gEu donds
o 2t & = woe E feda v |
et 21 vem H  ug Tyl A
‘S 1 wE B Rl
Er i
Tt
(oo fomam)
S
ERCi
(1) qof &AM e foFn 1 9% &9
& foreg odom F1a | FE % g
fafs =1 9 2 81 S
@9 AR UG %1 WEE B T R
wgS A e gl 21 O w2

(1) o7qol 7 - 5 TE T e | -

& o 4@ %@ 9 8 w1 o g
IHHT FHIRG &1 T4 €l Ferar STqut
TR HEA B W W M
e (s e T
¥ fr & waif| &1 o a9 g
& T fpan =1 9 BT !
dfter %1 S : 9% R0 4m

(1) W=t aat ¥ HT TEFET IR
& B YR, FUA TR 1 GAar=
W 2| Tt v % wEiEEs v
fei

(1)BH 1Y ==l & W
=ifew) 3@ g | oY &1 fadm
W= ‘ua’ B e w1 faei v
‘T, T R

(@) T srERl v TE Bl g
1 od § AR T FEE, oFd
T TER FERl TR T e
1 G W T O e 1 e
1 21 ey, o e A w @
oo, For @ fAw wE g 2
e weg 1 e ® : TIAH, Wga
A, o W

(1) foerem Haiy oremren § € =@
‘emeafers’ wed 21 faEe ey
o & ¢ 39 aiffs e € e
Heau wWeT 9 a € S8 weiy
FEd Bl A0 B SET TR G
Arr e 2
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59,

60.

61.

62.

63.

(1, 3) erafy =1 27ef A, 99T B
& SatE ‘e’ s@y 3w oW
21 e =1 1 | WKy W Wy o
F @ & wAw, R @1 ared
R, W T ¢l afvE @ ered
TEH T B

(@) e whife gd TR W
el 39 9 ¥ whika v seg
2 ‘o w8 W= W wEd €,
foaos w1 o fan, a9, 709,
TS & HR HE TR I35 7€)
71 ‘wfafea’ e fovhaw s
R o forro St et TR v
¥ T AW WG W T 2
A o fomime =@ Feam
¥ S : wfafes, 2w, e 3
I F A T v ® U ¥
o B

(2) frem =g # ‘o’ wem R
VT VS & 9IS W SRR A AR
TR A S ¥ S T wE
TR s G e u o+
¥ wia w o § we H, m oA
A 2l ‘e’ & ordf e Tl
IUE YT H e R - TR R
WY W TR W oM TRl 9 T
el S ; fe - e (urg, g9
) + A9 (FFA) |

(1) 9 + oo &1 iy ‘e’
TR JeaTee ‘e =R SR #)1 A
=R gy (3 Tuie) s @ 96
%, 3, W & 9% 4R & Hau W
(7 fom) o 2 o 9 wd
%, 3, & & ®AY: 9, 9, TE W
%iﬁﬁ:

i + M = W+ F > T +
s

- T + AEW - YR

(1) Telwy =1 Gf-fa=ag :
R + S WY W ofp wR
ofy 21 9fg wr wfa (Sfgdfa) -
IR A, % AR ‘T WY e
T ® o H Y ek e et
A @I P o A i 8 S
21 99 : Welny

- TR + ey

= + 37 + gioy =
Rt
at

TRy

| O O
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64. (3) @Ml VS GG TS5 B W
% e v o’ @1 o
T ve & T agwe W e’
21 ‘v’ aOw W ¥ e aewa
b o | Ml | (e e M et B
2 fowa agwe &7 21

(1) 7S o B - o F FE
®m

(@) ‘7 & B T T T WS
o ¥ TR H W T T @
BT =fET

(1) Ta T ¥ wEsw § 9dm ¢
& Wi R % o 9w 9us
F A 9 I AW <SS Al
(1) W TEer | ofEs o W el
& f ST TR TS % T
LCic e A R el | G e
T fE STER EER A’ &l
ff = & R

(2) e TNy ® @ g R
Wiy N A S H IO
der @ ot wifE 1919 F ¢
Sfertaren = geie & fod |
I oo gege Hi say fafem
WEHR & =

(4) T Ty W@ o E R
i S w1913 H I
T MarEta @ A R L
feer = &3 o faem

(1) v T B waEn v § fE
e S w7 TE, 1861
F Towal H UH el @R "
g o

(1) ‘HRA % AL SRR
TR’ & wEEE e T
TR B T8 A 1 % Haad
s it fewsl wememe &1 9
o1 TEEE 1936 # g3 @

(4) geERm 5 wiee & wew
FHfg 41 TR YHE TR tefatad
¥ ; T, Tiareet, SiadaEed,
TSI AT 2

g’ ) T CTERE il J wi
2 T TR WE-9RdE (1912)
qd & WEgd 9UW 6 wHa H
FIH FEITEl dfad g ol T
FRO HERHl M A 3 UL FHiE
EAlEC IR

65.

66.

67.

68.

69.

70.

71.

72.

73.

74. (3) Mferciero = = 1936 T Al
oM Ty Y2 Hd 50 T FeRd
TRt 3§ ‘et T I G Hettea
figm T 1936 § wwit # "
afedeT wg W HH H TENE
sEifeag e e e
Aferctieror 7w ford w1 F BT
S R W H E-eE TSR
Tl FEENT, 9% Fia ARG AR
2l

T wE 1912 ° T T R
ToieAl & W™ 1914 H WHINE
Tl WRAE Wiew H 9 T
Eitean e cEiu e B EIRED
A 2 %
(2) 3oy Alven T % WS
ITEFN TRATE T H
g ST 813U UUH FRRE
30 S, 17 I g
3D =4

X =24

E=5

H=28

T =520

L=12

Position Number in the En-
glish alphabetical series.

75.

76.

77. (1) [N[M [N
MNNMMMNNN
OOMMMMNNMMMTT

NMN] o NMN
M=H5— M55

78. (3)21 = U
13=>M
22 =V
18=R
19=3S8

Position Number in the En-
glish alphabetical series.

79. (3G O O D
i 4 3 4
7+15+15+4=41
Therefore,
B A D
k4 4
2+1+4=7

80.3A C T I V E
R PR PR A P
1+3+20+9+22+5

=60

Therefore,
P A S S8 I V E
R
16+1+19+19+9+22+5
=91
4s I L K
Lolod ok
199 12 11-
Therefore,
cC O T T O N
Lo s s dls s
3 15 20 20 15 14

81.

82. (1)

NE

East

SW SE

v
South

Hour-hand will point to North-
East.

(2) In the evening, the shadow
of an gbject is cast in the East.

SubirL T Amal
|

Amal was facing West. £
(1) Fist Premise is Particular
Affirmative (I-type).
Second Premise is Universal
Affirmative (A-type).

83.

84.

Some crows are-pigeons.

All pigeons are peacocks.

I + A = I-type of Conclusion
“Some crows are peacocks.”
This is the Conclusion I.

(UCSE-66 |
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85.

86

87

89.

90. (

91.

92.

(2] Clearly, only Assumption II
is implicit in the statement.
The statement does not imply
that renewable sources of en-
ergy will not be available for
the next generation. Non-re-
newable sources of energy can-
not be replenished.

(1) Clearly, only Assumption I
is implicit in the statement.
The statement describes mag-
netic properties of objects.
(2)133=7x19

533=13x41

833=7x7x17

(*) Expression
=105+15x(38-8+5)+3

105 8
arf Flan S0 L
15 "( 5] 3
[1_99‘_8J 1
N 5 *3
_o 182 1 1274
*B 8- "15
(4) Expression
g lg 1
= 1200 T 12 * 1000
3 i
2 * 7000
4 0.0015
1000 -
4] Expression
11 33
T 8 7 56
1 5 7 ,1
8.5 By T 3.5y

(1)54=2x3x3x3
162=2x3%x3x3x3
189=3x3%x3x7

. Required HCF

=3x3x3=27

4) 2|64 128, 160
2132, 64, 80
2|16, 32, 40
2|18 16, 20
214 8 10
202 4 5

L2 5

93.

94,

95.

96.

98.

=L.C.M.
=2x2x2x2x2x2x2x5
=640

(1) Ratio of division =5 : 9
Sum of the terms of ratio
=5+9=14

.~ Larger part

(2) Required percentage of

" 66
=—x100 = 889
marks 75 88%

(4) C. P. of mask
2 4108 %X 308
(100-12)
100 x 308
To gain 10%,
Required S.P.
350x110
= _“16-0— = Rs. 385
(3) Let the C.P. of a set of pens

be Rs. x.
According to the question,
xx (100 - 15)% = 1751

x x85
100

= =1751

1751x 100

i 08 TR

= Rs. 2060

(1)

Principal x Time x Rate
100

SI =

© 1800x5x8

100 =Rs. 720

R T
99. (4)TI =P [(“Efo_] —1}

UCSE-67 }

100.

101.

102.

103.

=300

=300

=300

(2
=300 {100

_ 300x21

100™ "=
(1) Let Suhas invest for x
months.

Ratio of the equivalent capi-
tals of Suhas and Nitin for 1

Rs. 63

month = 8x: 36
=2x:9
According to the queshon,
SX iy 30
Qi d
=8x=45
=i g months

(3) Total marks of other two
students

=5x55-3x65

=275-195=80

.. Required average marks
80

o

(1) (Rashid + Kausik)'s 1 day’s

work

1 1

_—-+_.

T

=40

7+5
105

12 4

=405
Required time

Lol 85"_
4

(4) Let the minimum speed of

rescue vessel be v kmph.

Relative speed = (v + 10) kmph.

Time taken to complete the

rescue = 6 minutes

days

R e~ )
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Remaining time = 18 - 6
= 12 minutes

. Relative speed x Remaining
time = 15

12
== =15

= (v+ 10) x 60

15x 60 v
=v+10= 12 =

= v=75~-10 = 65 kmph

104. (3) Side of equilateral triangle
=a= 2 km.
-, Circumradius

a 21

BB

7./3 cm.
.. Area of circum - cirtle
=i

22
= T==iaa s
=462 sq. cm.

105. (2) Work done by Zubin and
Pravin in first two minutes

1 1

.__+_ﬁ

60

) 5+3 8 2
T 180 T 180 T 45
Work done in first 44 minutes

2x22 44 i
45 T 45
Remaining work
e
T AR S

Now it is the turn of Zubin.

1
. Time taken in doing 5

work
s g e,

=45 x36= T 5 minutes

4
= [g XGOJ seconds
=48 seconds
-, Total time = 44 minutes 48
seconds

4
1086. (4) Time taken at 5 th of usu-

5
al speed = of usual time

5
i x usual time — usual time

5
- Usual time Z”l =22.5
minutes

= 22.5 minutes

1
= Usual time x i

= 22.5 minutes

= Usual time = 292.5 x 4

= 90 minutes .

= 1 hour 30 minutes

(2) Saffron is a spice. Similar-
ly, Apple is a fruit.

(2) Salivary Glands secrete sa-
liva. Similarly, Bile is produced
by liver.

(4) Temperature is measured in
Celcius degree. Similarly, mass
is measured in grams.

110.(3)

107.

108.

109.

=)

KANPUR—LZO Q

TZ ov
+1
I _1’[’[
f +1
-1
+1]
—1

111. (3) Cake is baked in an oven.
Similarly, ice-cream is freezed
in a refrigerator.

112. (3) Shillong is the Capital of
Meghalaya. Similarly, Kohima
is the Capital of Nagaland.

113. (4) One hundred is called cen-
tury. Similarly, ten is called
decade (a period of ten years).

UCSE-68

MUMBAI—/>N

T
| 14 IT

ek

Therefore,

114. (2)
AtAsE 85k 185151 410, 0
1455 46575485 110[ 4105 59

115.(1)82:64

= (8)*=64
Similarly,
092 = (9)2 =81

116.2) M A T T E R

A toMsT TiERAAE
Therefore,
LW E N AGT. H.
E L GiiN-HqE

117.202 M E T HO D

E MH TD O
Therefore,
P R A CT I1C E
R PC A1 TE C
118.(4)

Reverse order of letters.
Therefore,

APPLE —ELPPA

===t

119.(2)
C H

25

H CN Al
Therefore,

P I N CH IN'G

2>

I P C NI HG N
120. (1) Only daughter of Karnala’s
father means Kamala herself.

Therefore, Kamala is the
mother of Rajesh.

121. (1) T is the mother of R.
R is the niece of M.
R is the daughter of T.
M is the sister of N.

A NT IN G

TG N

e
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Therefore, N may be the broth-
er of T.

(4) Gopal is the brother of
Naresh.

Maya is the wife of Gopal.
Therefore, Naresh is the broth- ;
er-in-law of Maya.

(2) Soft cotton shirt may be
represented by the number
common to the square, the
rectangle and the cirlce. Such
number is ‘5,

(1) Husband and wife are two
different persons. But, both are
parts of family.

122,

123.

124.

Family

125. (2) The number '3’ is present in
all the three geometrical fig-
ures. Thus, the number ‘3’ rep-
resents a soft cake made of
chocolate.

126. (3) Warm and rainy day can be
represented by the number
common to the circle and the
rectangle. Such number is ‘5.

127.(1) English, Tamil and Hindi
are different languages. There-
fore, these can be represented
by three disjoint circles.

128. (4) Except the number 7653, in
all other numbers the digits are
in descending order and the
digits are consecutive.

129. (4) Except Angle all others are
regular geometrical figures.

130. (2) Obviously, Crying is differ-
ent from the other three words.

131.(3) Except D, 2ll others are
Vowels.

132. (4) Except Spectacles, all oth-
ers are ornaments. A pair of
Spectacles is used to correct
visual disorder.

133. (3) Except Face, all others rep-
resent outer line/point of geo-
metrical figures.

134.(3) f

135. (3) Except ‘Uncle-Niece’ pair, in
all other pairs the two are re-
lated directly. :

1386. {4) Coconut, Groundnut, Mus-
tard, Corn and Almond are oil-
seeds. -

187.(2)

/ ~
[LONY O\
o f~-» |

Lir 2 /
o E":.,J\ /
\/?&{ ‘\q@'
AR

(2) ONE — THREE — FIVE —
SEVEN

138.

4
L

o]
e

139. (4) \n @

140. (3) From first figure to second
figure the triangle is enclosed
by a quadrilateral. Therefore,
from third figure to Answer
Figure, the pentagon would be

enclosed by a hexagon.

141.

142. (4) From first figure to second
figure, the design rotates

:chrough 135° anticlockwise.

143. (4) Neither Conclusion I nor
Conclusion II follows. The
statement does not imply that
sleep is the cure of all diseas-
es. [t means that sleep is nec-
essary for good health;

(1) First Premise is Particular
Affirmative (I-type). .

Second Premise is Universal
Affirmative (A-type).

144.

Some crows are lions.

All lions are panthers.

I + A = I-type of Conclusion
“Some crows are panthers.”
This is the Conclusion L

145. (1) First Premise is Universal
Affirmative (A-type).
Second Premise is Particular
Affirmative (I-type).

All teachers are boys.

Some boys are students.

A + 1 = No Conclusion

Conclusion I is the Converse
of the second Premise.

2)7x7+1
=49+ 1=50
Similarly,
10x10+1
=100+ 1=101
(1)2x5x8=80
Similarly
3x6x9=162
3)3+12=15
15+20=35
35+28=63

63+36=[99]

99 + 44 = 143
149.(2)

146.

147.

148.

_'.“.2_>T__2._>|E

150.(3)2+3=5
5+5=10

10+7 =17

17 +9=[26]

aoo
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